
42

со
| !?ь'11в'Аок/м€[о0у

ф,ооьь91€к€01кАок

ф ускя:ош

|( ! !н0(]ь0 10,!6 у0(,
(?0(41н€ РАкА1100шт ?'от1?€ ?09с 0| тн6 ишсн0

ш0к'$ дш' !у1(]$!с 6у
[€0в06'|| АшР кА]'Рн кд!ш&6к

(4€0'0(4 !Ат]ш

00м!
6А!! { Р!Аш0

'% ?+/с €мг1 ([^,тсьв: $ 
''г+л!

о/о (мл1 0л

0 м:1

0"ч/о (,цд1 о/оёмл10 мг1
о

|[^,,гтьв: $тгБо:

щ_ €мо1 у'--------- ?0$9 с'ш! 00я)9

$тсБо:
0 мд1

т0 о00А+,,

соруг!зг1! о 1 935 (Репе\'еб 1962) ьу гапо05 мшз!с (огрога!!оп
тп!5 аггапзепсп{ соруг13[:| @ 2009 6у гапо!5 м05|с согрога|!оп

!п!егпа!!опа! соруг1зь{ 5ес0ге6 А!{ Р!9п(5 Ре5егуео

|[^,тгБз:



4з

$01"0!

0*/с ([^,тгьв; 0 +1цФ 0*/с €му7 0 му1 0уг

([^,тгьв: $'ггьо:

0 мл1 $ттБо: €м:70о

7.$. А[ о00А
ь)1тнеЁ?сА1

([^,тгьз:

0*млч)


